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Post name Fitter_10/2023

Q1 REfafEd Tearzs AEEE & Rfiew et & gEee #ifem)

A. ATSHAT &8 1. qE 3= AUF U8 Vel il & 3R fafde s &

(Micrometer head) ST ¥

B. TFHEL qE 2. SHH ST gL O & AT TAT HATShIAET

(Extension rod) Haer B gFsa & o fear smar &

C. &= (Handle) 3. 50 e SifdeT Tf, U vieas, mw RFas 3R
T 2 &

D. wfer Fer 4. 7w v & o Ser S & R faftes et

(Spacing collar) #F suerEy T

Ans X' 1. A-3, B-4, C-1, D-2
X2 A-2, B-1, C-4, D-3
3 A-3, B-1, C-2, D-4
X4 A-2, B-4, C-3, D-1

Question Type : MCQ
Question ID : 630680359573
Chosen Option : 1




Q2 Peafafra = gafea &fem

A.3FES (Crest) | 1. 3mHe 95 (adjacent threads) & Feler &b &= 3ided
T
B.®< (Root) |2.eufas o 3@ W IS F HETS FI0T|

C.&forrm dror | 3. 9T (thread) & AT TS HI B aTell UL YE3|
(Helix Angle)
D. 95 morer 4. 38 ¥T (adjacent threads) & ST TTSST H FASeT
(Thread angle) aren &=er gE|

Ans X1 A-3, B-4, C-1, D-2
X 2 A-4, B-3, C-1, D-2
v 3 A-3, B-4, C-2, D-1
X 4 A-4, B-3, C-2, D-1

Question Type : MCQ
Question ID : 630680359566
Chosen Option : 1

Q3 org #r oM & S UT HUTAOT (shearing) F THAT AT (burr) FAT a7 T Er
Ans X 1. TG Urg & 3T

X 2 FNOLE F B

v 2 3eOfAE FTLE g

X+ ga Hgfg

Question Type : MCQ
Question ID : 630680359547
Chosen Option : 3

Q.4 ¥eafE 0 @ BT & @2t (work pieces) #F Of¥T wiot W Be & & Ow 5w ver & B9 (jig) &
syier e Sar &2

Ans > =g 37 (Indexing jig)
v 2. gferge f3er (Trunnion jig)
X 3. 2eer f39T (Channel jig)
X 4 F=fa= f597 (Sandwich jig)

Question Type : MCQ
Question ID : 630680359607
Chosen Option : 1




S uger tu, g ¥u sk afew o sme & arerr-arer @ &

A X1 913 % U (type of thread)
V2 TUT oE (taper lead)
X3 U8 & HTHT (thread size)
X 4 93 =1 (thread pitch)
Question Type : MCQ
Question/D.: 630680359561
Chosen Option : 2
@6 Which micrometer has the option of interchangeable anvils?
Ans

X 1. Depth micrometer

& 2. Qutside micrometer
« 3. Screw thread micrometer
X 4. Inside micrometer

Question Type : MCQ
Question ID : 630680359571
Chosen Option : 3

¥ sgpfa # T Tw @ @ YeR aaEn)

=
X 1. TR Id (Square grooves)

Ans
X 2 1 7@ (Vee_groove)
X3 T 7T (Straight groove)

v 4 3% @ (Round groove)

Question Type : MCQ
Question ID : 630680359579
Chosen Option : 4




Q8 7= =N & T, F97 EHAr iE (hacksaw blade) ST Bl & FAT HROT BT E2
M Xz @ g R wreg gen

X2 @e & Iz o g

v s F = gar

X 4 Fi-B & TAS TIT

Question Type : MCQ
Question ID : 630680359545
Chosen Option: 3

Q.9 Tt Fremalt T oW UBN TR (placement) B 35 IEeT & @ MW T U W T, T &

AnS X 1. Trepfeefr U (Unidirectional system)
X 2. THRTH TUTel (MKS System)

v o gIfaa uomelr (Aligned System)

X 4 TfeRia wumelr (Bidirectional system)

Question Type : MCQ
Question ID : 630680359582

Chosen Option : 3

10 &L T (Screw Gauge) F I F aTH dqaEy|

A C
/ B
E PRI Y
= \
\D
Ans 1.
A- Tf2ge (Anvil), B-¥2T (Ratchet), C-f=r EFe(Pitch Scale), D-f3&& (Thimble)
x 2
A- 2T (Anvil), B- ffaer (Thimble), C- = ®5al (Pitch scale), D- ¥¥T (Ratchet)
X 3.
A- f39e (Thimble), B-T=ael (Anvil), C-¥=€ (Ratchet), D-Tor= TRl (Pitch Scale)
x 4.

A- f¥Fe (Thimble), B-Tr=r TFar (Pitch Scale), C- ¥=T (Ratchet), D-Tfeder (Anvil)

Question Type : MCQ
Question ID : 630680359567
Chosen Option : 1




M F w A BT oy & ARET & T A Er
X

gt

r

A X1 Js FaTE (Bed height)
X 2. BT ﬁTé‘ (Swing height)
3 fh_;{ "sw_nﬂé (Centre height)
X 4 TEaeT o (Swing diameter)

Question Type : MCQ
Question ID : 630680359616
Chosen Option : 3

Q12 What purpose does the pilot serve in a hand reamer with the pilot?
Ans X 1. Ensure the reamer operates smoothly.

X 2. Avoid making oversize holes.

X 3. Avoid making rough holes.

« 4. Keep the reamer centred in the reamed hole.

Question Type : MCQ
Question ID : 630680359559
Chosen Option : 4




B R am A @ AH gaET?

O C

Ans 1. TSaTETdT T o= (Adjustable snap gauge)
X 2 f@r I (Ring gauge)
X 3. ToraT S (Plug gauge)
¢4 Tl T A (Plain snap gauge)

Question Type : MCQ
Question ID : 630680359601
Chosen Option : 4

W B A Dt F ¥ @ sumr &7
Ao e @ earg S
X 2. forg fr oA FrEET
X 3. fZeT T I RIUT AT

X+ a1 wars ST

Question Type : MCQ
Question ID : 630680359604
Chosen Option : 1

Q15 gy @ (Taper tumning) F o & Beafafea & ¥ sig-w1 v &2
A - FETEG T TUE TF OR & &8 OR 6 THE T H F&adT ¢
B - PTT] B TW HUREET Tl § ARpa was A @ S E
C - T & TREr o OisiRe W §e fear s e
D - T & faegd &g & ¥ foRar S i)

Ans x1B3‘ﬁTC
X2 g 3D
v AR D
X4 A AR C

Question Type : MCQ
Question ID : 630680359578
Chosen Option : 3




Q18 sqerer RBFEIT (Dovetail Fitting) & Reafafea # & a9 ¥ o1y 2
A. T T3t SiEt F Faw FAegg @ §l
B. THH TIHF &7 (mating area), TYFIH BT €l
C. THA HF:IUT (interlocking) BT |
D. 23U fffea @t 3 #ear e aar &
A XA B3R C
v2 A AR C
X3 A B, C3HTD
X4 A CcFHTD

Question Type : MCQ
Question ID : 630680359595
Chosen Option : 2

Q17 Which of the following is useful friction?
Ans X 1. Rear axle gear

X 2. Wheel hub bearing
« 3. Clutch lining

X 4. Crankshaft bearing

Question Type : MCQ
Question ID : 630680359586
Chosen Option : 2

Q.18 yfygdier TTHE A (universal surface gauge) T FIT-HT 3T TFEET (scriber) FY UFEAT ¥7
e X FIed TesifeHee BF (Fine adjustment screw)

X 2. T HTH (Rockef arm)

« 3. 9T (Snug)

X 4 735 e (Guide pin)

Question Type : MCQ
Question ID : 630680359543
Chosen Option : 2




O FIE (cutting chisel) UT, Udeh y foFrg @01 &7 Tiae &7

A" 1 Y& FIOT (Rake Angle)
X 2. IS HIOT (Wedge Angle)
X 3. FSTLT BT (Clearance Angle)
X 4 3T PIOT (Inclined Angle)

Question Type : MCQ
Question ID : 630680359546
Chosen Option : 1

Q20 WWhich pressure measurement is made with a pressure gauge?
Ans % 1. Vacuum pressure

X 2. Atmospheric pressure

X 3. Absolute pressure

« 4. Gauge pressure

Question Type : MCQ
Question ID : 630680359617
Chosen Option : 4

2 =R P15 (drilling feed) & TS T HTF FEF-TT E?

Ans X 1. Minutes/mm
« 2. Mm/revolution
X 3. Mm/minutes
X 4. Revolution/mm

Question Type : MCQ
Question ID : 630680359556
Chosen Option : 2




Q22 fifer 3TTCETTS ASHIAE H TS A FAGH A ______ e
Ans 1. 0.01 mm

X2 0.1 mm

X 3. 0.001 mm

X 41 mm

Question Type : MCQ
Question ID : 630680359572
Chosen Option : 1

OB G Rrar war fog e ¥ A ¥ gsr o €T 87
X B T warse S # 7 @

X2 e & Fad PR UNER & g

v 5 &aed P (cutting edge) T HTATT HIOT

X 4 el TN qga HAF B

Question Type : MCQ
Question ID : 630680359555
Chosen Option: 3

W 15m om TAE AT HIGH T Ywcd deg Rhaar @ame
Ans X 1. 20 cm

¥ 210 cm

X35 cm

X425 cm

Question Type : MCQ
Question ID : 630680359589
Chosen Option : --

025 ¥= S (hand reamer) 3 2t F fr AT < T A ¥
A o meEe (chattering) @& & & forr
X 2. TUHIOT_ T HATdeT dgret & forr

X3 EETdT H YR ae & forw

X . 3R g e & fw

Question Type : MCQ
Question ID : 630680359558
Chosen Option : 1




Q.26

ZE TfF (die stock) H TET BF FaT T&aT &2
Mo e & T @ g wa & R
X 2 AN YT F AW TeT & o

X 3. B1% P HET I aae & fom

X4 Fredr AT & O acod & o

Question Type : MCQ
Question ID : 630680359563
Chosen Option : 1

2T TP ATSHIAET (micrometer) H ATH TATET|

Ans

X 1. ZEATEE ATBHIAET (Inside micrometer)

X 2. HTZCHSS ATSHIAET (Outside micrometer)
v 3 3TY ATZHIAET (Depth micrometer)

X 4 afe T ATSFAET (Vernier micrometer)

Question Type : MCQ
Question ID : 630680359570
Chosen Option: 3

0% faar T & e gyt g ¥
A 1. Rt e @ O B & T
X 2. & @S (work piece}aﬁmﬂﬂﬁa?ﬁm

W 3

Fae SURIUT A TUTE TTuior iy omEs e & o
X 4 HTU oI & JUIRE e & o

Question Type : MCQ
Question ID : 630680359609
Chosen Option: 3




02 e g & Hg 3R Recasw we & &R & @9 fhaa g T o e
S D - R Eaam g

Ans X 1. 3D

X 2 0.75*D

X 3. 2%

o 4. 1.5%D

Question Type: MCQ
Question ID : 630680359583
Chosen Option: 3

O e ¥ frw Tew # x @ B few mm ¥

1N

e e

Ans Xl%g
X2 TETS
X3 ¥
4 grEr

Question Type : MCQ
Question ID : 630680359552
Chosen Option : 4




¥ Ry # REw o agEr, sgie e @ wr R 2

—

— T ™ & g
At AN :
RS o e S SR
[ ; !
s s 4 ’
L\ A
\

\__|__.»

A X1 e & d AT (Burrs)

X2 T2l & I Ggd A TG (allowance)|

v 5 TeEl @ IR gEe
X 4 TorET & &= agd HOF 37aFrr (allowance)|

Question Type : MCQ
Question ID : 630680359554

Chosen Option: 3

Ans

Q32 g T (pitch circle) HT FeT FF (root circle) & T Frag ERErED E;ff P FIT FEd €7

v E=H (Dedendum)

X 2. TE5A (Addendum)

X 3. o (Land)

X 4. gfereT Ty (Working depth)

Question Type : MCQ
Question ID : 630680359622

Chosen Option : 1

Ans

% oy ux dFHERET (Chamfering) & 3 a1 21am &2

x 1.
A UE a9 € I U g @ e # e e 2 E

X 2 A (turning) &, TSTH T THOT B aTT €
X3 g F HY FUGE] F WA T F FET ST &
v OEE B AR T W #R UR P g A4

Question Type : MCQ
Question ID : 630680359574

Chosen Option : 4




Q34 FEeEr (counterbore) & T oeafafag & @ Fi9-wr @ &2
A - FERER, o P 7w By W wie-die (flat seat) TETAT B
B - dePR AR & FUR W TATS I8 aTel ITAR P HSSTANT el F1aT E

C - Tr3eTdY Fad UG, U FHIT H Tk AqFarept &g aamar g
Ans
X1 A B3R C

v 72 rdel B
73 Faer C
74 el A

Question Type : MCQ
Question ID: 630680359580
Chosen Option : 4

Q.35 g m w5 m =ied H#R 10 m T Al FET P THA OF Ted U PG B FoT A o e
@R st Fergd z100/m? #1)

Ans X1 234,000
X 2. 326,000
X 3 I28,000
« 4 230,000

Question Type : MCQ
Question ID : 630680359590
Chosen Option : --

Q36 erzaifers AT (hydraulic cylinder) & U Wl &1 &1H aarsT|

V

X 1. Zaef wfeear UTay T2 (Double acting power stoke)
x 2

fiorer o Treq =T (Single acting return piston)
&3

e nfgreer o fea s (Single acting load return piston)

X 4 Zger Ufeeer @YU FRAT (Double acting with crushing)

Ans

Question Type : MCQ
Question ID : 630680359613
Chosen Option : 2




Q37 The purpose of lapping operation is:
1. To improve the dimensional accuracy

2. To provide very close fit between the contact surfaces

3. To produce geometrically true surface imperfection
Ans X1, Only 1, 3 and 4

2 1,2,3and 4

X3 Only 1, 2and3

X 4 Only 2, 3and 4

Question Type : MCQ
Question ID : 630680359599
Chosen Option: 3

Q.38 gg=ifeg du (hydraulic pump) &7 TFIH TS (suction line) H Rreey =l womam Jam &2

X0 du F ora w | & B
v 2 TELr Uerd @ et & oI
X3 Ug H T 99T W@ & o
X4 T P AU T F Uhed & o

Question Type : MCQ
Question ID : 630680359610
Chosen Option : 2




¥ TmRiRm w gaka ffem
g i
A. Stg/aTeRe (Joint/socket)

1. —p—

B. If@¥= & (Union screwed)

C. o9 a1 9 (Plug or cap)

D. EIE Hdf¢ah (Reducer concentric)

Ans X 1. A-3, B-2, C-4, D-1
X2 A-1, B-2, C-3, D-4
v 3 A-3, B-1, C-2, D-4
X 4 A-3, B-2, C-4, D-1

Question Type : MCQ
Question ID : 630680359596
Chosen Option: 3




U arpfy F weRig Rl (fitting) @1 @ g

Ans

« 1. Y Bagel (Through dovetail)
X 2. Eh-TeNes Sael (Half-blind dovetail)

X 3. drpe Hes gdg (Secret mitered dovetail)

X 4. Fel-cees Sa=@ (Full-blind dovetail)

Question Type : MCQ
Question ID : 630680359594
Chosen Option : 1

Q41 =f 2 m & 0.3 mn’ HGUEY-FE AT A ¥ & kg @ FR EEE U THH wAE TEAT 2.020 m @ I E
ar Ter A feraer sene

A X1 100 kg/mm?
X 210 kg/mm?
X3 9.90 kg/mm?
¢ 4 1000 kg/mm?
Question Type : MCQ
Question ID : 630680359587
Chosen Option : --
Q.42

The primary objective of a pin punch is used:
Ans 1. to drive or remove pins
X 2. to make a hole.in‘the job
X 3. for marking on the job

X 4. to mark centre on job

Question Type : MCQ
Question ID : 630680359544
Chosen Option : 1




Q43 e &5 UaIT (rivet head projection) @ Ueher o Tor forw T & summ forem s =nfewe

Ans

X 1. AYFH &5 T&e (Mushroom head rivet)
v 2. FT3eY HF &5 T (Counter sunk head rivet)

X3 TT ¥ @ (Snap head rivet)

X 4 oreFaTeRT &% TXAT (Conical head rivet)

Question Type : MCQ
Question ID : 630680359553
Chosen Option:: 2

Q.44

Ans

YadTH

1. feTer-V 5T S

2. frele A=

3. TA€ o=

4. THTer 99T 9¢ I

« 1. 1-d, 2-a, 3-b, 4-c
X2 1=-¢c, 2-b, 3-a, 4-d
X3 1-c, 2-a, 3-b, 4-d
X 4 1-d, 2-b, 3-a, 4-c

Question Type : MCQ
Question ID : 630680359584
Chosen Option : 1




W Srwm UBT (irregular surfaces) T &19Wel fohaar grem?

200 mm

_l

40 mm 150 mm

Ans

X 1. 22000 mm?
X 2. 22000 mm?
¥ 3 26000 mm?
X 4 28000 mm?

Question Type : MCQ

Question ID : 630680359592
Chosen Option : 3

Q46 M16 * 1.5 &1 Ao SR A & o sofer e 1 v Hifsme
Ans X' 1.16.15 mm

X2 16 mm

+ 3 15.85 mm

X 4 145 mm

Question Type : MCQ
Question ID : 630680359564
Chosen Option: 3

Q.47 1w T W TF YU T (section plane) gHT S T TR (section) T ATEITIR 3-1'@% (true shape)
gram|

Ans X1 :j

Xz.ﬁﬂa}[
o gd
X4 TS

Question Type : MCQ

Question ID : 630680359585
Chosen Option : 1




W o o W T 9 TRT TATT TS B

Ao s (die)
X 2. AT (reamer)
X 3. &7 (tap)

X 4 Hgel (mandrel)

Question Type : MCQ
Question ID : 630680359562
Chosen Option : 1

Q49 2o sieeRer (inch graduation) amer feaifea affex Hoaw uwx Hffw fraar &2

567846

Ans X 1. 3409
X2 3.418
¥3 3.459
X4 3.49

Question Type : MCQ
Question ID : 630680359569
Chosen Option : 4

% FS IO (Hardening) Rrafem frar smar &2

A X FERAT B T ey o
<2
$TUTT & U] T (grain structure) & TRTRIOT & forw
~< 3.
IEAAT (toughness) R 3mena ufayr ganfae &= & o

« 4 EYOT AT (wear resistance) P} qﬁ' T & o

Question Type : MCQ
Question ID : 630680359591
Chosen Option : 4




¥ Arifeg B # o o & OfEe e i

0 5 10 15 20 25 30 35 40 45 50

E3 1) A —
Ans  X'1. 35.25 mm
« 2 35,50 mm
/3. 35.00 mm
X4 3475 mm

Question Type : MCQ
Question ID : 630680359568
Chosen Option: 2

¥ ypfy & REmw o area-vdE @ A aa=T|

2|

Ll

1 13

Ans X1 4/3 7 ared

X2 5,72 d dled
3 3/2 O died
X4 272 F dTed

Question Type : MCQ
Question ID : 630680359611
Chosen Option: 3

Q33 yufer & siafite wiatm & 59 o & BT ggw = @& aw aasr)
AnS X1 ZTy A= (Depth gauge)

X2 T T (Steel rule)

X 3. afdoT &fergT (Vernier caliper)

4 BT A (Feeler gauge)

Question Type : MCQ
Question ID : 630680359600
Chosen Option : 4




A X orafdE et A- Go
¢ 2 UrTHT T AA- No Go
X 3 ol TSS Terdl AA- Go
X 4 Zrel TS Terdl A=- No Go

Question Type : MCQ
Question ID : 630680359605
Chosen Option : 2

Q.55 I (facing) w1 & @y F Feafatta & @ Sl @/d qwo w6 42
A TW T & T oA B 9T @ F o feom @
B. ¥ &1 & TUTH & TaT @ & T fRar ST &
C. 58 W T TU FY (step lengths) 1 AT et 3R Ava & Bw ve @ a9 &g R =@ #

At X1 B 3k ¢ 2t
X2 A 3 B 3=t
vi A 3R C =t
X 4 Feael A

Question Type : MCQ
Question ID : 630680359576
Chosen Option: 3

@5 yoie T I o T BT ¥
A" X TR, T TOTeE W gETaT &
X 2w AR Feex e 1 By arg aa e €

3
fﬁ'a?rg'ﬂ+um<iﬁr¢uu|d|a’rucmia?aﬁamlﬁamﬁa?ﬁmmma'

X 4 worrg, ddted e & ¥ F &9 oar &

Question Type : MCQ
Question ID : 630680359549
Chosen Option: 3




O rrgéee du f v e fF @ sumer & o feam wmar
A X 1. zamEs @ (blind hole) H TH &

v 2 Qoll & & (hubs of pulley) @ 3T &

X 3. ToNSE @l (blind hole) & dT HTH

X 4 TS @l (blind hole) T ST A

Question Type : MCQ
Question’|D : 630680359560
Chosen Option : 2

% Feforaw-fear Wiest &1 sudler Sza & B fear s &
v tefafaTs @ tefafaew o aew gl

X2 grar AR frer dmer Fsergn

X 5. e frsr arg Hk sTua

X o @ F FE HR FE F Ug

Question Type : MCQ
Question ID : 630680359548
Chosen Option : --




¥ rafafte @ifts udwt @ gafem fifaw)

Ans

A. T=EH

(Lubricator) 1 A

B. @ =

(Pressure 2 < >
Gauge)
s

C. 3
(Dryer)

D. ag &I

(Air source) 4 ®

X 1. A-1, B-4, C-3, D-2
« 2 A-2, B-4, C-3, D-1
X3 A-1, B-3, C-2, D-4
x4 A-2, B-3, C-4, D-1

Question ID : 630680359619

Question Type : MCQ
Chosen Option : 2

Y CreatateT # ¥ Fa-m B ¥ W4T & B wd b

Ans

]

I L I k|
X 1. A-Teles, B-URE, C-¢71, D- &b
X 2. A-UFE, B-Toi, C- &91, D-8e
v 3 A-We[g, B-Teleh, C-afeh, D-¢dT
X 4 A-Teles, B-URIE, C-&eh, D- <91

Question Type : MCQ
Question ID : 630680359557
Chosen Option : 3




Q.61 3T (facing)FI‘TI'-ﬁ'Eﬁf34'?;@‘"“*Eﬁrqiﬂiﬁ’?ri“E Tl

A. 3ade & (Concave Face) | 1. Hfi=T &1 & 7 g

B. 3cdel ®eleh (Convex Face) 2. T & F & HE H FHSIUT W B Har T

c.ﬁaﬁqagarrﬁtr(mp) 3. T H TE FF-FUE W W FAFT kAT aTm)

4. SifEer & S T B FEH TG THST T

Ans X 1. A-1, B-3, C-4
X2 A-4, B-1, C-2
X3 A-1, B-4, C-2
4 A-4, B-1, C-3

Question Type : MCQ
Question ID : 630680359577
Chosen Option : 4

2 frreE wER & 2 i (snap gauge) ¥ FaT TaQrwarm gt €2
Ans X1 2T 7 9T ‘G’ 3T ‘No Go’

X2 ‘Go’ HR ‘No Go’, 3HeTaT-3Teldl

v 3 ek & 8T uT ‘Go’ T ‘No Go’

X4 foREr TR Y W ‘Go’ 3R ‘No Go’

Question Type : MCQ
Question ID : 630680359603
Chosen Option: 3

983 sl R (Locating pin) &7 3T foram e &
Ans X 1.
FAd SUHRIOT I TAE FUROT HR TEE W & T

v 2 TrET g &7 g |z &1 Faer v & o
X 3.

IeaiEUd Y @S (work piece) @l F@ﬁ?—f T & o
X 4 HTUR oIS @l JUIRE & & o

Question Type : MCQ
Question ID : 630680359608
Chosen Option : 2




Q64 i miT = FiF W uew R T= W 1 &S F B g o b
Ans o mE Telr (Stepped pulley)

X 2 TEE 3R o Geil (Fast and loose pulley)
X 3. Foig ol (Flat pulley)
X 4 Fidr geir (Jockey pulley)

Question Type : MCQ
Question'ID : 630680359614
Chosen Option : 1

Q65 Rrmfaiee @ gl Hfem|

1. 6w areg | A a9 eI @ TS fEm & vared a3k Rula
foar & 3% A H g TE HaT B

2. 3% Teg B. 3l g & s=rar 2l

3. IS qeT | C. T TAES & ATETH F Flell A &8 &A1 A1 g

Ans X 11-C, 2-A, 3-B
X2 1-B, 2-C, 3-A
X3 1-C, 2-B, 3-A
¥4 1-B, 2-A, 3-C

Question Type : MCQ
Question ID : 630680359612
Chosen Option : 4

Q66 The type of threads used in valve spindles is:
Ans X 1. ACME threads

X 2. Worm threads

« 3. Knuckle threads

< 4. Buttress threads

Question Type : MCQ
Question ID : 630680359565
Chosen Option : 1




Q67 Rrrafafa = gafea Hfom)

AT & TFR 3=

A TR T a1, ST 93 i afeEar s

B. T worT AT | 2. WX & aftear Ak agd aumw, aet @ S
C. fmr = 3. AR 93 # gfeEdar s

D. & =T 4. g 1 R AR T Fr afieEar s

Ans X1. A-2, B-4, C-3, D-1
2 A-2, B-4, C-1, D-3
X 3. A-4, B-3, C-1, D-2
X 4 A-4, B-1, C-2, D-3

Question Type : MCQ
Question ID : 630680359606
Chosen Option : 2

068 g a7 &Y 7 FAF (go dimension) & wEgeT e ¢
Ans X g & 3= dra

X2 g & BT dan

v e & z= draw

X4 g fr e

Question Type : MCQ
Question ID : 630680359602
Chosen Option: 3

% grosE e (Diamond: knurling) ¥ forar mar ¥

Ans X 1.
el o Teifeier O o T & ¥aae & (concave kourl) 3T E:H'l' F 39 JoF (convex knurl) BT

X 2. FHaTer ol 1. SaeT To formd A g9 2 &

X 3.

JeRt &1 2 Ve fowA 1 F DY 2T A € AR g F FFEAT W g9 @ £
o 4.

ot @ T A S T WG g o o ¥ Ak o 5o g o o B

Question Type : MCQ
Question ID : 630680359581
Chosen Option : 4




7 B3 F vefg &9 & a7 gaET

EEY

cap]

A X1 orféer @y (Parting operation)
v 2 T&q A9 T (Step turning operation)
X 3. ZfefeT P (turning operation)

X 4 FHIET (Chamfering)

Question Type : MCQ
Question ID : 630680359575
Chosen Option : 2

Q.71 & s & & mdor (honing) T F =g TARFT (manval stroking) F FIT WuTHwar & =T &7
A
" X AETg & H & o

v 2. ere Taar 99T @ & o
X 3. 3TCIXETOT MO & LA b Tl

X4 gHT &H &0 & o

Question Type : MCQ
Question ID : 630680359597
Chosen Option : 2




Q72 Rrr=fafe @ gafe i)

Ted & TR 39T

A. 3R TEE aea 1. 7l EEETee woe # Ity TRufy & wEse

B. 1% ared 2. T =Y F gaE f Rew A Tty wew

C.ERNEE Fare ared | 3. gEgifor fwew & 3 & rfafea am= = e

D. e areT 4. T ST B UF R F yarRa @ & iy Awda
f&=m & yarg F S WA

Ans X1 A-3, B-1, C-2, D-4
« 2 A-3, B-4, C-2, D-1
X3 A-1, B-3, C-4, D-2
X4 A-1, B-2, C-3, D-4

Question Type : MCQ
Question ID : 630680359618
Chosen Option : 2

V3 I3 F ST F sUTNT w4 RRar ST &7
A X1 39 & Reaua & URH & 9fg U aee & o
X 2 g X HFHETSS ad d & age & o

< 3

TeX & agd oen ¥ o o glafa @ & oo
V4 @ B TN Ra GHT Hogss O & o

Question Type : MCQ
Question ID : 630680359550
Chosen Option : 4

Q.74 ﬁu;u%qgﬂ?ﬂﬁf@lﬂﬁ@ﬁﬂ?,aﬁ?:rm(lapping plate) B HARS F W FA THG ST
M X0 wrdaEg, U@ @ |
X 2 UB UT Frel Year fo@mE am
X 3. offter surss, fofear gem
v 4 U8 T THPreT gear @S Zami

Question Type : MCQ
Question ID : 630680359598
Chosen Option : 2




o7 e ¥ T vow @ a1 REfafee & @ sF-ar e
A. Sitge & TEITEE THE
B. Siige W U dl &I el
C.fFeR urg & vaTE gIrH aare
Ans K1'A3-ﬁ_{c
X2 B3R C
¥3 A, B, HR C
K4'A3‘ﬁTB

Question Type : MCQ
Question ID : 630680359551
Chosen Option: 3

076 rofrm dve & WY IUENT & Bw BT @ Fr sugE e e
Mo TETP FE (Woodruff key)

X 2§ el (Sunk key)

X s f@ &8 TS (Gib head key)

X 4. Fore ¥Se PN (Flat saddle key)

Question Type : MCQ
Question ID : 630680359620
Chosen Option : 1

Q.77 otaz | (Power Saw) ¥ T Reafafas & & o9 o 7u= w8 &2
A, 7E 75 frm & afeeie 29 W Fear & H#R aF-wee 126 § g a9 g &= €
ot BT Rom Brer ¢ ommiem S & mh TR F R Y 2 ohe®s oo &
C. #F Hfew, Fex & oot ot o YR T 3 ofafe w B
D. T 3% 3R T S Wik F AaRie g W Fedl

A X1 bt e
X2p AR B
X3 A dHR B
V4 A dR C

Question Type : MCQ
Question ID : 630680359615
Chosen Option : 4




78 e S i @1 qeed &g, M & Reel g w fRya gy
Ans X1 H/4

X2 H/2

X3 H/3

v 3H/4

Question Type : MCQ
Question ID : 630680359588
Chosen Option : 2

Q.79 5.0 kg TN ST & Tl U s A R fomameren & ¥ e ouor aqunie (us) o.75 & 3R wifaer edor
TOTE (uk) 0.6 &I FH ol P T e & T A ~YaaR ae g Hifem)
(7T AT 2 = 10 m/s2 B)
Ans X' 1. 7.5 N
w2 375 N
X3 50N

X4 30N

Question Type : MCQ
Question ID : 630680359593
Chosen Option : 2

Q.80 o= & wey & E=lRE w gata Hm
1. 3SR o fhaw Fa (A, doT # g F @

2. Jolt B BT FI3A FLA B. T dee & TS (gripping) &3 & HEaR =T

3. w3sT e 9ged Fer C. & & FAC TG

4. %% 59 A i ¢ gEr | D. @ fm g % A deT ¥ e a wAfee e

Ans X1 1-D, 2-B, 3-A, 4-C
v 2 1-D, 2-A, 3-B, 4-C
X3 1-C, 2-A, 3-D, 4-B
X4 1-C, 2- B, 3-D, 4-A

Question Type : MCQ
Question ID : 630680359621
Chosen Option : 2

Section : General Awareness




Q.1 e Aed T F FF B JweAT TET aA g W R, @ @9y % s § § aw dle ane?

v 7% 1907
X2 fFaEr 1924
X 3 3TEd 1913
X4 AZ 1935

Ans

Question Type : MCQ
Question ID : 630680355567
Chosen Option: ==

Q.2 2030 7%, sRA F NEET UM, HEERE F BT wfem ¥ e By anele w aen a7 gete
Ans X 1. 80%

2. 60%

< 3. 50%

X 4 40%

Question Type : MCQ
Question ID : 630680355601
Chosen Option : --

Q3 e T F HFER 2011-12 F T F HFER FE T F T F g way H#ow 32
i v aedraee

X 2 gregmom

X3 fagr

X 4. AT

Question Type : MCQ
Question ID : 630680355600
Chosen Option : 3

Q4 gren e F T T A TEAR TG F T SRS & Tg @ Fie §2

Ans

X 1. TR FAR(Rakesh Kumar)
X 2 9&rT #Rate (Pardeep Narwal)
v 3. A= =98t (Neeraj Chopra)
X 4 g feer (Manjeet Chillar)

Question Type : MCQ
Question ID : 630680355554
Chosen Option : 3




Q.5 gzoar we ¥ Ehe, PeatafE § ¥ Buer ST fent Fr SeEdr F ary B o on, S S dent
(watching towers) & &7 & HT Har off?

A X T 9fawT (Grid Patterns)
x 2. 91¢ (Citadels)
X 3 g=AE (Granaries)
4 ?ﬁ' (Bastions)

Question Type : MCQ
Question’|D: 630680355571
Chosen Option : ==

Q6 Rrmfaf@a & ¥ #i7 gfie sy S9fadt (HFCs) &1 forfeor war §2
Ans X 1.

T srETen faea dwor st fawr &% (National Bank of Financing Infrastructure and Development)

X 2
sTRarT 3erE e & (Housing Finance Corporation of India)
v 2 TS HTETH 9% (National Housing Bank)

X 4
adrT aitemfEe ffeg 391 (Industrial Finance Corporation of India)

Question Type : MCQ
Question ID : 630680355585
Chosen Option : --

Q7 F=f ot i wET F AE # B araw 1= & afenst @ e
A v FeaT g
X2 oae

X3 FeeH
X 4. TAEATT

Question Type : MCQ
Question ID : 630680355580
Chosen Option : 1




Q.8 1573 & @aY & W W B W Lt BT TN SN F AT 39A 7% Tornfert H F Bowd v Rew @R,
TG LA TATEL FART?

e X ot
X2 feeelr
X3 gaTTer

v 4 TAgqX HeRdT

Question Type : MCQ
QuestionID:: 630680355564
Chosen Option : 4

Q9 TrafT & ¥ ¥ g7 98X 7 TF TS (building blocks) FT e €2
s v g

X2 rafeEse

X 3. gHr

X 4 gfasr I

Question Type : MCQ
Question ID : 630680355611
Chosen Option : 2

Q10 9T ¥ Ffura F AT Fdedl &1 TR =R & @ fFg gwr @ B o o
e v afdTa B9 (USSR)

x 2 JuHET (USA)

X 3. A (China)

X 4 S (Japan)

Question Type : MCQ
Question ID : 630680355614
Chosen Option : --

Q11 o % & B 8.42 HeX A T8 T F W A T (long jump) F TET R
A X1 3 o (Ankit Sharma)

X 2. T AT (Murali Sreeshankar)

X 3. HfAT 99T (Amit Panghal)

v 4 FGTa Thesa (Jeswin Aldrin)

Question Type : MCQ
Question ID : 630680355550
Chosen Option : --




Q.12 g A9w, SR TR F Fo€ 2022-2023 F 3O, Traw AcCAIsT witerecad e (multimodal logistics
parks) TE=fers fel smEfErd {Public Private Partnership(PPP)} & HTead § vei faw omw 87

Ans X1 -
X2 HS
X3 CH
o 4 =
Question Type : MCQ
Question ID : 630680355581
Chosen Option : --
Q.13
HRA BIHN FT AEA(aeh HRASRT @ Hied g 87
Ans

X1 HT & qET TG AT

X 2 Fafed =OmaTe T & &Y Fararerer

X3 8T & IrSgoie
v 4 AT F AT

Question Type : MCQ
Question ID : 630680355619
Chosen Option : 1

Q14w w1 Rew AR & @ 5 50 F o9 § [ a0l 59 8 e 7 am@ 32

ek Yt

X 2. SiFATEE
x5 ffams
v 4 graT

Question Type : MCQ
Question ID : 630680355592
Chosen Option : 2

Q.15 f=fofed # & Fia-dr FETUTA 72 78 990 AROT H [EART FA F WeIw W, A OgE F R w1,
HIE F Uehet AT T Fr FUTEE F FUR FA F T@IAT FAT 82

Ans w1 FEERTOT
X 2. TS
XB.EIF-ﬂHJn?»IFr

X 4 SIH WAl

Question Type : MCQ
Question ID : 630680355607
Chosen Option : --




Q.16 &% & & am (cold Peruvian current) & R SfaFaT & &9 # 9% & d¢ W T T 9 & FERE
e = F A g T g

Ans X1 @ @& (La Nina)

x 2.
AT IeuTeRfeaeT HfATIOT &F (Inter tropical convergence zone)

v T A (El Nino)
X 4. YA 91T (Coriolis effect)

Question Type : MCQ
Question ID: 630680355595
Chosen Option : --

Q.17 fr=fofRe & & fFg T2 & geeT # 50 e $ BT 9w A R & aeAtee e e sk an &
3¢ SAASFAIEAT HTF B (Encyclopaedia of the Forest) & 9 & &ff Ja S1am 87

X 1. UAEAT (Rajalakshmi)
X 2. 30T TATAA (Anuradha Ramanan)

Ans

X 3. 4T T (Rajashree Rao)
v 4. Jerdr S (Tulsi Gowda)

Question Type : MCQ
Question ID : 630680355559
Chosen Option : --

Q.18 sma & T oisa T BRIt Fr siv=fs R Ay sher gomer # oo = F B Reite s
‘e el w9 sere, Afen wF se e Faew g Wi # 7 BEe wy wmed # o B
ar?

X1 Rrem #wrer 3R g@ee (UCL)
v 2. TR Frem 3R gfa@s (UNICEF)
x 3. Rrem Frew AR seegTEET (WHO)
X 4. fRrem Farerm 3R AT (UNESCO)

Question Type : MCQ
Question ID : 630680355542
Chosen Option : --




Q.19 T=ffed # ¥ F19-77 770 T TFe (ekaharya) & T & a7 AT &, g7 TF AdHT TF & WG F Fy
sfEeRre e &7

s X T
Xz.HﬁTg'ﬁ'
X 3. Hi=IEr
= P |
o 4 ALdATSTOH

—

Question Type : MCQ
Question’ID : 630680355574
Chosen Option : ==

Q.20 5w TS FEwaT F AF aaET, S EEEE FOT F FAG w4 % o Al ofFs wEeR 2022 F sEAtg
s =mar am

& 1. e TIET (Shobha Gasti)
X 2. gferer AA (Radhika Menon)
X 3. 9T AT (Pooja Sharma)

Ans

X 4 S S9TH (Batool Begum)

Question Type : MCQ
Question ID : 630680355545
Chosen Option : --




